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1) A U-shaped conductor of width /= 0.064 m is connected by a conducting bar as
shown. A uniform magnetic field of magnitude 0.15 T exists everywhere in the region
and is directed out of the page. If the bar is moved to the right at a constant speed of 2.0
m/s, what is the magnitude and direction of the induced current through the bar if the
resistance of the circuit is 2.0 Q7
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2) The magnetic flux through a loop of wire is given by (0.60 + 0.30#) Tm’. The emf induced in
the loop at £ = 3.0 s is closest to
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3) The following situations are separate. In the scenario on the left, there is a bar in
contact with metal rails. The bar, metal rails and resistor 1 form a circuit. The system is in
a constant magnetic field into the page and the bar is moving to the right. In the scenario
on the right, a magnet is moving away from a circuit as shown. The row in the following
table that correctly gives the direction (or status) of both the current in resistor 1 and the

current in resistor 2 is
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